Supernode example
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Superposition Theorem




Tevenin Theorm
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Find what is maximum power of a light bulb

Since we need to find P, it means we need to use
maximum power theorem and Thevenin theorem



Optional: first we simplify circuit using serial-
parallel technique and source transormation
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We find Rq,,. Important, that the circuit has a depended source!
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We are calculating Ey;,. The final answer is not
correct, since we did not complete solving

equations
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Optional: We are calculating +

ly- The final answer is not ‘
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Finding final power

P=V.I =T RT=02"25:1W
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